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Graph   y = sinx
Graph   y = sin2x

Graph   y = 3sin2x
Graph   y = -3sin2x

Graph   y = -3sin2(x -(/6)  
Graph   y = 2 - 3sin2(x -(/6)

Summary of Graphical Methods

y = f(x)

y = cf(x)
vertical stretch by a factor of c

y = 
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f(x)
vertical shrink by a factor of 
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y = f(cx)
horizontal shrink by a factor of c

y = f(
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x)
horizontal stretch by a factor of 
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y = -f(x)
reflection across the x-axis

y = f(-x) 
reflection across the y-axis

x = f(y)
reflection across the line y = x

y = f(x – h)
horizontal translation h units

y – k = f(x)
vertical translation k units

Solve   2 sin 2x = 1 for 0 ( x < 2(
Solve sin 
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